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Exercise

1. Which is the false statement?

AB—(aUC)=(B-C)-A

BA—-(BUC)=(A-C)—-B


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8G5Fn7VwbBeR

C.C—(BUA) =(C—-B)—A4

DA— (BUC)=(B-C)— A

Answer:

o Watch Video Solution

2.If f(z) = 4x — z* forall z € R, then the value of
f(a+1)-f(a-1) is:

A. 2(2-a)

B. 3(2-a)

C.4(2-a)


https://dl.doubtnut.com/l/_8G5Fn7VwbBeR
https://dl.doubtnut.com/l/_mJxpDbAOAY9R

D. 3(a-1)

Answer:

o Watch Video Solution

3. The number of real solutions of the equations

cos’ z 4 sin* 2z = 1in the interval [ — 7, 7] is:

Al
B.3
C.4

D. none of these


https://dl.doubtnut.com/l/_mJxpDbAOAY9R
https://dl.doubtnut.com/l/_rOgfbIX0EZZS

Answer:

o Watch Video Solution

4.1f
1+

= ¢ + iy, then 2 + ¢° is equal to:

Al
B. -1
C.0

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rOgfbIX0EZZS
https://dl.doubtnut.com/l/_2Vs3rbLHafBY

5. The number of permutations of all letters of word

'EXERCISES' is:

A. 40220

B. 30240

C. 20480

D. none of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2Vs3rbLHafBY
https://dl.doubtnut.com/l/_SU2QNn8zT87Q

6. If Zn = 210, then Zn2 is equal to:

A. 2870
B. 2670
C. 2570

D. none of these

Answer:

o Watch Video Solution

7.Slope of the line which cuts off intecepts of equal

length on the axis is?


https://dl.doubtnut.com/l/_YY17TCPDNAtw
https://dl.doubtnut.com/l/_H3pAo6znkpgG

C.0

D. none of these

Answer:

o Watch Video Solution

8. The equation of circle having centre (0,0) and

area 154 sq. units.

A.z? +y* = 16


https://dl.doubtnut.com/l/_H3pAo6znkpgG
https://dl.doubtnut.com/l/_W6waFp8fePLa

B.2% + y* = 49
Czl+y>=20

D. none of these

Answer:

° Watch Video Solution

, vi+z—1
9. lim is equal to:
z—0 Z

A.2
5 1
2

C.1


https://dl.doubtnut.com/l/_W6waFp8fePLa
https://dl.doubtnut.com/l/_pBeDmUIxsD39

D. none of these

Answer:

o Watch Video Solution

10. Six boys and six girls sit in a row randomly. The
probability that the six girls sit together or the the

boys and girls sit alternatly, is


https://dl.doubtnut.com/l/_pBeDmUIxsD39
https://dl.doubtnut.com/l/_fQBjHwdsqSbk

D. none of these

Answer:

o Watch Video Solution

M. If cosf +sinf = \/2cos@ ,then show that

cosf — sinf = /2sinf.

o Watch Video Solution

12. An angle « is divided into two parts such that

ratio of the tangent of the parts is k. if difference of


https://dl.doubtnut.com/l/_fQBjHwdsqSbk
https://dl.doubtnut.com/l/_A0xbtjWIjUio
https://dl.doubtnut.com/l/_4tg20JYzxELd

two parts, prove that

kE—1
kE+1

sinx = . sin «.

o Watch Video Solution

13. Express (5 — 3¢)° in the form a + ib.

o Watch Video Solution

14. If the 2nd , 3nd and 4th terms in the
expansion of (z + y)" are 240, 720 and 1080

respansion find x,yand n..

o Watch Video Solution



https://dl.doubtnut.com/l/_4tg20JYzxELd
https://dl.doubtnut.com/l/_f71huLkilQUc
https://dl.doubtnut.com/l/_ZggIaBsuwLcu

15. Find the middle terms in the expansion of

(0-%)

o Watch Video Solution

7

16. Three vertices of parallelogram ABCD are A(3,-1,2),
B(1,2,-4), C(-1,1,2). Find the co-ordinate of the fourth

vertex.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZggIaBsuwLcu
https://dl.doubtnut.com/l/_6DuOLK0MfDFc
https://dl.doubtnut.com/l/_BVITs1jXxhm1

17. Write down the truth value of the following:

The number 19 is prime.

o Watch Video Solution

18. Write down the truth value of the following:

Every square is a rectangle.

o Watch Video Solution

19. Write the contra positive of the following

statements:


https://dl.doubtnut.com/l/_TlqC82C0KHQv
https://dl.doubtnut.com/l/_gGCipVDor8yM
https://dl.doubtnut.com/l/_iMbORxZOlBTk

If you are born in India, then you are a citizen of

India.

o Watch Video Solution

20. Contrapositive of the statement If a number is

divisible by 9. then it is divisible by 3 is

o Watch Video Solution

21. Let A and B be two non empty sets, then show

that A x B = B x A.If A=B

o Watch Video Solution



https://dl.doubtnut.com/l/_iMbORxZOlBTk
https://dl.doubtnut.com/l/_8tKHLdib1Ab8
https://dl.doubtnut.com/l/_855YBrbSdC24

22. Let A={1,2,3}, B={2,3,4} and C={4,5}.n verify that:

Ax (BUC)=(AxB)U(AxC(C)

o Watch Video Solution

23. Prove that

sin7x + sinbx + sin3x + sinxz = 4 cos x cos 2z sin4x

° Watch Video Solution

24. Using Principle of Mathematical Induction, prove

that


https://dl.doubtnut.com/l/_855YBrbSdC24
https://dl.doubtnut.com/l/_4a2PKSR4KOd0
https://dl.doubtnut.com/l/_pqBtRRvuF2HK
https://dl.doubtnut.com/l/_3sXJIjcVMIH6

cos a cos 2a cos 4a.............. COS (2” B 1a) =

foralln € N.

o Watch Video Solution

25. Out of 18 points in a plane, no three are in the
same straight line except 5 point which are
collinear. Find the number of lines that can be

formed by joining them?

° Watch Video Solution



https://dl.doubtnut.com/l/_3sXJIjcVMIH6
https://dl.doubtnut.com/l/_ORQAvFYv4QU2

26. Out of 18 points in a plane, no three are in the
same straight line except 5 point which are
collinear. Find the number of lines that can be

formed by joining them?

° Watch Video Solution

Py SR A
2Egr gy = g ndx

o Watch Video Solution



https://dl.doubtnut.com/l/_qC4y22v08EuF
https://dl.doubtnut.com/l/_J9MULfNtHg7P

28. Find the sum to n terms of the sequence 8, 88,

888, 8888,...

o Watch Video Solution

29. Find the equation of the line passing through
the point (-3,2) which makes an angle 45° with the

line x-2y=3.

o Watch Video Solution



https://dl.doubtnut.com/l/_pjyQ7lm43vOf
https://dl.doubtnut.com/l/_x5TiAkkke3TF

30. Find the equation of the circle passing through
the points.(2,-3) and (-1,1) whose centre is on the line

X-3y-11=0.

o Watch Video Solution

] 3 — 4x® + 4z
31. Evaluate: lim X
xr— 2 w2 — 4

o Watch Video Solution

32. Find the derivative of (x+secx)(x-tanx)

o Watch Video Solution



https://dl.doubtnut.com/l/_I7hPcymVPcCF
https://dl.doubtnut.com/l/_fZChDWYhCBXb
https://dl.doubtnut.com/l/_aeokjRnUIu7o

33. A single letter is selected at random from the
word PROBABILITY the probability that it is a vowel

is:

o Watch Video Solution

34, If E and F are events such that
1 1 1
P(E) = T P(F) = o) and P(Eand F) = 3 Find

(i) P(E or F) (ii) P(not E and not F).

o Watch Video Solution



https://dl.doubtnut.com/l/_aeokjRnUIu7o
https://dl.doubtnut.com/l/_BoyhqmPb1j2Q
https://dl.doubtnut.com/l/_GsAYGiDG25NS

35. |If and F are events such that

E
1 1 I _
P(E) = 1 P(F) = 5 and P(Eand F) = 3 Find

(i) P(E or F) (ii) P(not E and not F).

o Watch Video Solution

36. If (z+iy)° =u+iv, then show that

u _ 2 .2
:13+ —4(33 y)

v
y

o Watch Video Solution

37.Express (5 — 3i)° in polar form.



https://dl.doubtnut.com/l/_pSiJ3hyJOKGS
https://dl.doubtnut.com/l/_sivvc8rRSDf6
https://dl.doubtnut.com/l/_jbR0s2i7C4h1

| W Watch Video Solution

38. Solve the inequalities given below for real x :-

(2 — 1) - (3z — 2) B (2 —xz)
3 - 4 5

o Watch Video Solution

39. Find all pairs of consecutive even positive
integers, both of which are larger than 5 such that

their sum is less than 23.

o Watch Video Solution



https://dl.doubtnut.com/l/_jbR0s2i7C4h1
https://dl.doubtnut.com/l/_6E82l5ikHtth
https://dl.doubtnut.com/l/_mFlwZJv62wNf

. e® —sinx — 1
40. Evaluate lim
z—0 xI

o Watch Video Solution

41. Find the derivative of tanx

o Watch Video Solution

42. The mean and variance of 8 observation are 9
and 9.25 respectively. If six of the observations are 6,
7, 10, 12, 12 and 13, find the remaining two

observations.



https://dl.doubtnut.com/l/_8EAVy9F05TXI
https://dl.doubtnut.com/l/_YiPYtBzCshE5
https://dl.doubtnut.com/l/_0fjfp3Doc2AK

| W Watch Video Solution



https://dl.doubtnut.com/l/_0fjfp3Doc2AK

